JUST PLUG" BILLBOARDS

DEUCE’S PARTS & REPAIR - JP5792

/074

]
e
|
==

INSTRUCTIONS / INSTRUCTIONS / INSTRUCCIONES / ANWEISUNGEN

INSTALLATION / A INSTALLER / INSTALAR / INSTALLIEREN

7/64"
(2,77 mm)
Drill bit

T

I |
e
K0 \on‘ou
0"00\‘0“0‘00“0

VY \&N\A\&M.\d

\1_<

Scenic Glue™ (S190)

0 VST ORTRTTITAA

, 4 5 |00 ‘\o\.y\o;«;&’o;‘ e e,w
B|Ilbpard .\..\;;wm.&.\sm@ws
/WI : RARK ".\".\\.\‘.\‘ . \’.\’\.\""’t’.\’\.\ t’.\’» ‘l

POWERING / FOURNIR DE LENERGIE / PARA ENCENDER / MACHT ZUR VERFUGUNG STELLEN

a Negative Polarity (=) / Polarité négative (—) ()] —
Polaidad Negativa (=) / Negative Polrtt () s -] ———

i1
o Positive Polarity (+) / Polarité positive (+)
Polaridad Positiva (+) / Positive Polaritat (+)

Press / Presser / @@

Presione / Driicken Sie \

Insert / Insérer /
Inserte / Einfiigen

Release / Relacher /
Suelte / Loslassen

@ Repeat / Répéter /
Repita / Wiederholen

POWER | :| [CTRL]

1ICHT LI IR

Billboard
Wire

Light Hub
(JP5700, JP5701)

|

Insert Screw
Insérer une vis
Inserte tornillo

Schraube eindrehen

layout base

I

Layoutbasis

‘ Planche de base du diorama
— Base de la maqueta

#4 (2.83 mm) Wood Screw (not included)
#4 (2,83 mm) Vis a bois (non incluse)

Tornillo para madera #4 (2,83 mm, no incluido) — ¢
#4 (2,83 mm) Holzschraube (nicht inbegriffen)

Designed in USA, Made in China
Combination Package

P8 ©2018 0 CO

WOODLAND SCENICS® Manufactured by WOODLAND® PO BOX 98, LINN CREEK, MO 65052 ¢ woodlandscenics.com



